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QUESTION 1

Which two storage efficiencies are enabled by default on NetApp AFF systems? (Choose two.) 

A. postprocess compaction 

B. Inline compression 

C. Inline deduplication 

D. postprocess zero block detection 

Correct Answer: BC 

 

QUESTION 2

Exhibit 

You need to provision a new NFS datastore for a vSphere cluster. You configure a new SVM and a new volume on your
ONTAP cluster. You successfully mount the datastore to your vSphere cluster. You are able to upload and download a
test 1 KB file to and from the datastore. You can also successfully ping the NFS LIF (192.168.106.11) from the vSphere
hosts without any packet loss. However, you are unable to upload ISO Images or migrate VMs to the new datastore. 

Referring to the exhibit, which action would correct the problem? 

A. Enable jumbo frames on the network switches. 

B. Add a default gateway to the SVM. 
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C. Change the MTU of the VM kernel ports on the vSphere hosts to 9,000 bytes. 

D. Migrate the LIF to Its home port. 

Correct Answer: A 

 

QUESTION 3

You are asked by your network engineering team to make sure that your NetApp cluster is configured to run LACP on
Its network ports. Which network component satisfies this request? 

A. VLAN 

B. Interface group 

C. broadcast domain 

D. failover group 

Correct Answer: B 

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMP1401193 (19) 

 

QUESTION 4

Exhibit 

You have a 4-node cluster. 
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How many ISCSI LIFs will be created from the SVM setup wizard, as shown in the exhibit? 

A. 8 

B. 6 

C. 16 

D. 2 

Correct Answer: A 

 

QUESTION 5

When you set up an ONTAP cluster, which two SVM types are automatically created? (Choose two.) 

A. admin 

B. node 

C. data 

D. cluster 

Correct Answer: AB 

Reference: https://library.netapp.com/ecmdocs/ECMP1354558/html/GUID-D860985F-
11BF-4589-9457-E0FD03130B1F.html 
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